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7 100kN/mM%#BZ 5 - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - -~ -|3mEBZD -~ -
s 1.00 | 0.00 ~ 477 59.50 | =hs | 000 ~ 000 1.71 917 st 1.00 | 6.00 ~ 5.00 59.50 | =hLS | 5.00 ~ 5.00| 1.71 917
2 100kN/m%E#Bz25| 1.00| 000 ~ 188 12887 |3mE#EZ5 -~ -] 100kN/ %8825 | 1.00 | 1062 ~ 1800 12887 |3m%EiBz% -~
s 1.00 | 1.88 ~ 9.66 100.00 | #nlst | 0.00 ~ 9.66 | 2.30 12.33 st 1.00 | 6.00 ~ 1062 100.00 | =nst | 6.00 ~ 1800| 2.530 12.33
3 100kN/m%#8%2% | 1.00 | 000 ~ 283| 144.75 |3m&FBZx5| 000 ~ 001 | 3.01 16.09 | 100kN/mi%#825 | 1.00 | 1055 ~ 2520 144.75 |3m&E#BZB| 25,00 ~ 2520 3.01 16.09
s 1.00 | 283 ~ 1061 100.00 | =nhst | 001 ~ 1061 3.00 16.06 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 2500 3.00 16.056
4 100kN/m%EBZ5 | 1.00 000 ~ 225 13495 |3mEBZD ~ -] 100kN/ %825 | 1.00 | 11.19 ~ 2470 | 134.95 |3m%E#BZ% -~
s 1.00 | 225 ~ 1003 100.00 | =4 | 000 ~ 1003| 2.51 13.43 st 1.00 | 6.00 ~ 1119 100.00 | =nst | 6.00 ~ 2470 2.51 13.43
5 100kN/mi%E#82% | 1.00 | 000 ~ 214 133.25 |3m%E#BZ 5 ~ -] 100kN/ %8825 | 1.00 | 11.78 ~ 2864 | 13325 |3m%EiBz% -~
s 1.00 | 214 ~ 993 100.00 | =4t | 0oo ~ 993 | 2.76 14.76 st 1.00 | .00 ~ 1178 100.00 | =nst | 6.00 ~ 2864)| 2.76 14.76
P 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -] 100kN/m#%#8% % ~ -|3mEBZD -~
s 1.00 | 0.00 ~ 469 5847 | EnRS | 0.00 ~ 469 | 1.83 979 st 1.00 | 6.00 ~ 5.00 58.47 | #h4 | 5.00 ~ 65.00| 1.83 979
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~

U3
H
M|



